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AR YN AT 3.50 0. 00 1. 00 0.85 100.0 0.0 0. 100. 100. 0|7 A 7 7 /b ik
0.0 0~ 3. 50 0. 00 3.70

AR YN AT 3.35 0. 00 0. 00 0. 80 100.0 0.0 0. 100. 200.0|7 A7 7 v Mtk
0.1 0~ 3.35 0. 00 0.75

KA KA T 3.35 0. 00 0. 00 0.55| -446.3 0.0 546. 100. 300. 0|7 2 7 7 v Mk
0.2 0~ 3.35 0. 00 0.75

FAYy I L F WP T 3.35 0. 00 0. 00 0.55 100.0 0.0 0. 100. 400. 0|7 A 7 7 )V Mgtk
0.3 0~ 3.35 2. 45 0. 80

Ay I L F WP T 3.35 0. 00 0. 00 0. 50 100.0 0.0 0. 100. 500. 0|7 2 7 7 v Mtk
0.4 0~ 3.35 2. 50 0.75

Ay A F WP T 3.35 0. 00 0. 00 0. 50 100.0 0.0 0. 100. 600.0|7 A 7 7 )L Mgtk
0.5 0~ 3.35 2. 50 0.75

Ay A F WP T 3.35 2.50 0. 00 1.00 100.0 0.0 0. 100. 700. 0|7 2 7 7 v ML
0.6 0~ 3.35 2. 50 0.75

T4y I L F WP T 3.35 2.50 0. 00 0. 00 100. 0 0.0 0. 100. 800.0|7 A 7 7 )L Mtk
0.7 0~ 3.35 2. 50 0.70

Ay I L2 F WP T 3.35 0. 00 0. 00 1.50 100. 0 0.0 0. 100. 900.0|7 A 7 7 )\ Mtk
0.8 0~ 3.35 3. 00 3. 40

Koy B B1% K 3.50 2. 45 1. 05 4.25| -266.0 0.0 366. 100. 1,000. 0|7 2 7 7 /v &%
0.9 0~ 3. 50 2. 50 2.55

Ay WL LA R T 7.00 2.50 0. 60 0.75 100.0 0.0 0. 100. 1,100.0|7 A2 7 7 v Mtk
1.0 0~ 7.00 2. 50 0.75

Ay WL LA R T 7.00 2.50 1. 00 0.75 100.0 0.0 0. 100. 1,200.0|7 A7 7 v Mgtk
1.1 0~ 7.00 2. 50 0.75

Ay L2 F- WP T 3.50 2. 50 1. 00 4. 95 100. 0 0.0 0. 100. 1,300.0|7 A7 7 v Mtk
1.2 0~ 7.00 2. 50 0.75

Ay WL A% R T 3.50 3. 00 1. 00 4,95 100. 0 0.0 0. 100. 1,400.0|7 A 7 7 v Mtk
1.3 0~ 7.00 2.95 1.50
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Ay WL LA R T 3.35 0. 00 0. 00 1.30 100.0 0.0 0. 100. 1,500. 0|7 A7 7 )L Mtk
1.4 0~ 3.35 3. 00 1.00

Ay A FC WP T 3.35 0. 00 0. 00 1.35 100.0 0.0 0. 100. 1,600.0|7 A7 7 )L Mtk
1.5 0~ 3.35 3. 00 2. 40

Ay LA F WP T 3.35 0. 00 0. 00 2.00 100.0 0.0 0. 100. 1,700.0|7 A7 7 v Ntk
1.6 0~ 3.35 3. 00 1.50

Ay WL LA R T 3.35 0. 00 0. 00 2.00 100.0 0.0 0. 100. 1,800.0|7 A7 7 )L Mtk
1.7 0~ 3.35 3. 00 1.50

Ay WL LA R T 3.35 0. 00 0. 00 2.00 100.0 0.0 0. 100. 1,900.0|7 A7 7 )L Mtk
1.8 0~ 3.35 3. 00 0. 60

Ay WL LA R T 3.50 0. 00 0. 00 1.50 100.0 0.0 0. 100. 2,000.0|7 =2 7 7 v Mtk
1.9 0~ 3. 50 0. 00 1.50

Ay WL LA R T 3.35 0. 00 0. 00 2.00 100.0 0.0 0. 100. 2,100. 0|7 =2 7 7 v Mtk
2.0 0~ 3.35 3. 00 1.50

Ay I L F WP T 3.35 0. 00 0. 00 2.30 100.0 0.0 0. 100. 2,200.0|7 =2 7 7 v Mtk
2.1 0~ 3.35 2. 50 1.50

Koy R B1% K 3.35 0. 00 0. 00 7.55 -79.0 0.0 179. 100. 2,300.0(7 27 7 /L Efd%E
2.2 0~ 3.35 2. 50 1.50

Ay WL LA R T 7.00 0. 00 0. 65 1. 45 100.0 0.0 0. 100. 2,400. 0|7 =2 7 7 v Mtk
2.3 0~ 3. 30 0. 00 1.34

KAy WL A% R T 3.29 0. 00 0. 65 1. 40 100.0 0.0 0. 100. 2,500. 0|7 27 7 v Mtk
2.4 0~ 3.29 0. 00 1.49

Ay WL LA R T 3.28 0. 00 0. 65 2.03 100. 0 0.0 0. 100. 2,600.0|7 27 7 v Mtk
2.5 0~ 3.27 0. 00 1.74

Ay L F WP T 3.29 0. 00 0. 65 2.25 100. 0 0.0 0. 100. 2,700.0|7 =2 7 7 v Mtk
2.6 0~ 3.28 0. 00 1.71

Koy B B1% KE 3.30 0. 00 0. 65 0.93 -11.5 0.0 111. 100. 2,800.0(7 27 7 )L Efid%E
2.7 0~ 6.19 0. 00 1.43
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Koy R E1% KE 3.30 0. 00 0. 65 0.93] -113.0 0.0 213. 100. 2,900. 0|7 2 7 7 )L Ef%E
2.8 0~ 3.17 0. 00 1.43

Ay A FC WP T 3.29 0. 00 0. 65 0. 87 100.0 0.0 0. 100. 3,000. 0|7 =2 7 7 v Mtk
2.9 0~ 3.27 0. 00 0. 92

Ay LA F WP T 3.30 0. 00 0. 65 1.68 100.0 0.0 0. 100. 3,100. 0|7 2 7 7 v Mtk
3.0 0~ 3.23 0. 00 2.10

Ay WL LA R T 3.30 0. 00 0. 65 1.68 100.0 0.0 0. 100. 3,200. 0|7 2 7 7 v Mtk
3.1 0~ 3.23 0. 00 2.10

Ay WL LA R T 3.29 0. 00 0. 65 2. 89 100.0 0.0 0. 100. 3,300. 0|7 =2 7 7 v Mtk
3.2 0~ 3.26 0. 00 3.32

Ay WL LA R T 3.32 0. 00 0. 65 1.66 100.0 0.0 0. 100. 3,400. 0|7 2 7 7 v Mtk
3.3 0~ 3.29 0. 00 1.77

Ay WL LA R T 3.30 0. 00 0. 65 1.65 100.0 0.0 0. 100. 3,500. 0|7 =2 7 7 v Mtk
3.4 0~ 3.28 0. 00 1.78

Ay I L F WP T 3.31 0. 00 0. 65 2. 87 100.0 0.0 0. 100. 3,600. 0|7 =2 7 7 v Mtk
3.5 0~ 3.26 0. 00 2.92

Koy R B1% K 3.29 0. 00 0. 65 0.92 -6.0 0.0 106. 100. 3,700.0(7 2 7 7 )L %
3.6 0~ 3.29 0. 00 0. 88

Ay WL LA R T 3.28 0. 00 0. 66 2.94 100.0 0.0 0. 100. 3,800. 0|7 =2 7 7 v Mtk
3.7 0~ 3.28 0. 00 3. 09

KAy WL A% R T 3.28 0. 00 0. 66 2.94 100.0 0.0 0. 100. 3,900. 0|7 2 7 7 v Mtk
3.8 0~ 3.28 0. 00 3. 09

Ay WL LA R T 3.28 0. 00 0. 67 1.67 100. 0 0.0 0. 100. 4,000. 0|7 =2 7 7 v Mtk
3.9 0~ 3.28 0. 00 1.68

Ay L F WP T 3.28 0. 00 0. 66 1.70 100. 0 0.0 0. 100. 4,100. 0|7 =2 7 7 v Mtk
4.0 0~ 3.28 0. 00 1.65

Ay WL A% R T 3.28 0. 00 0. 67 3.27 100. 0 0.0 0. 100. 4,200.0|7 =2 7 7 v Mtk
4.1 0~ 3.28 0. 00 2.90
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Ry B4 KRBT 3.28 0. 00 0.76 2.05 100. 0 0.0 0.0 100. 0 4,300.0|7 A7 7 )b kA
4.2 0~ 4.3 0 3.28 0. 00 1.96

Ry B4 KRBT 3.70 0. 00 2.57 2.29 100. 0 0.0 0.0 100. 0 4,400.0|7 A7 7 )b ki
4.3 0~ 4.4 0 3.70 0. 00 1.75

Ry B4 KRBT 3.70 0. 00 4. 56 2.29 100. 0 0.0 0.0 100. 0 4,500.0|7 A7 7 )b ki
4.4 0~ 4.5 0 3.70 0. 00 1. 64

Ry B4 KRBT 3. 70 0. 00 6. 55 1.66 100. 0 0.0 0.0 100. 0 4,600. 0|7 2 7 7 /L NafLE
4.5 0~ 4.6 0 3.70 0. 00 4.93

Ry B4 KB 3.70 0. 00 8.55 2. 14 100. 0 0.0 0.0 100. 0 4,700.0|7 2 7 7 /L NafLE
4.6 0~ 4.7 0 3.70 0. 00 2.95

Ry B4 KRBT 4.37 0. 00 5. 65 1.71 100. 0 0.0 0.0 100. 0 4,800. 0|7 2 7 7 /L NafiLE
4.7 0~ 4.8 0 7. 20 0. 00 1. 68

Ry B4 KRBT 6. 35 0. 00 3. 66 1.70 100. 0 0.0 0.0 100. 0 4,900. 0|7 2 7 7 /L NafLE
4.8 0~ 4.9 0 7. 20 0. 00 1. 66

Ry B4 KRBT 7.20 0. 00 2.79 1. 70 100. 0 0.0 0.0 100. 0 5,000. 0|7 2 7 7 /L NafLE
4.9 0~ 5.0 0 7.20 0. 00 1.71

Ry B4 KB 7.20 0. 00 2.82 1.66 100. 0 0.0 0.0 100. 0 5,100. 0|7 2 7 7 /L NafLE
5.0 0~ 5.1 0 7.20 0. 00 1. 68

KAy P12 KB 7 7.20 0. 00 2.80 1.70 100. 0 0.0 0.0 100.0 5, 200. 0 |0 sgestis = 2 v — ki
5.1 0~ 5.2 0 7.20 0. 00 1. 68 (F)7 27 7 /v bt

KAy P12 KB 7 7.20 0. 00 2.79 1. 67 100. 0 0.0 0.0 100.0 5, 300. 0 |0 sgestis= > 2 v — ki
5.2 0~ 5.3 0 7.20 0. 00 1.70 (F) 7 27 7 /v bt

KAy VL1 KB 7 7.20 0. 00 2.81 1. 66 100. 0 0.0 0.0 100.0 5, 400. 0 | (0 sgestis = 2 v — ki
5.3 0~ 5. 4 0 7. 20 0. 00 1.71 (F)7 27 7 /v bt

KAy VL1 KB 7 7.20 0. 00 2.81 1. 66 100. 0 0.0 0.0 100.0 5, 500. 0 | (1) sgestis= s 2 v — ki
5. 4 0~ 5.5 0 7.20 0. 00 1.71 (F)7 27 7 /v bt

KAy VL1 KB 7 7.22 0. 00 3. 08 |* 100. 0 0.0 0.0 100. 0 5, 600. 0|k pesris=> 7 v — i
5.5 0~ 5.6 0 6. 95 0. 00 * (F) 727 7 v bk
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Koy VLB KBP 7.19 0. 00 4.61|*% 100.0 0.0 0. 100. 5,700.0|7 A7 7 /L NEfidk
5.6 0~ 5. 50 0. 00 *

Ay A FC WP T 3.73 0. 00 9. 09 |* 100. 0 0.0 0. 100. 5,800.0(7 2 7 7 /L L&t
5.7 0~ 3.74 0. 00 *

Ay LA F WP T 3.74 0. 00 7. 06| 100. 0 0.0 0. 100. 5,900. 07 2 7 7 /L Efd%E
5.8 0~ 3.72 0. 00 *

Koy VLB KEP 3. 67 0. 00 5. 03|* 100. 0 0.0 0. 100. 6,000.0|7 A7 7 /L %k
5.9 0~ 3.71 0. 00 *

Koy WL B4 KEP 3. 65 0. 00 3.20(* 100.0 0.0 0. 100. 6,100. 0|7 A 7 7 /L %k
6.0 0~ 3.76 0. 00 *

Koy VLB KBP 3.37 0. 00 1. 49| -90. 0 0.0 190. 100. 6,200.0|7 A7 7L NEfidk
6.1 0~ 3.76 0. 00 *

Ay WL LA R T 3.27 0. 00 [* * 100. 0 0.0 0. 100. 6,300.0|7 =2 7 7 v Mtk
6. 2 0~ 3.27 0. 00 *

Ay I L F WP T 3.26 0. 00 0. 68|* 100. 0 0.0 0. 100. 6,400. 0|7 2 7 7 )L Efd%E
6.3 0~ 3.25 0. 00 1.42

Koy WL B4 K BP 3. 26 0. 00 0. 68|* 100. 0 0.0 0. 100. 6,500.0|7 A7 7 /L &%k
6. 4 0~ 3.25 0. 00 1.42

Koy VLB KEP 3.25 0. 00 0. 68|* 100.0 0.0 0. 100. 6,600.0|7 A7 7 /L %k
6.5 0~ 3.31 0. 00 1.36

Koy VLB KEP 3.30 0. 00 0. 62|* 45.0 0.0 55. 100. 6,700.0|7 A7 7 /L %k
6.6 0~ 3.31 0. 00 1. 60

Koy VLB K EP 3.30 0. 00 0. 62|* 100. 0 0.0 0. 100. 6,800.0|7 A7 7 /L %k
6.7 0~ 3.31 0. 00 1. 60

Ay L F WP T 3.24 0. 00 0. 67 |* 100. 0 0.0 0. 100. 6,900.0(7 2 7 7 )L Efd%E
6.8 0~ 3.25 0. 00 1.39

Koy VLB KEP 4.55 0. 00 0. 66 |* 100.0 0.0 0. 100. 7,000. 0|7 A 7 7 )b ~EfdkE
6.9 0~ 5. 14 0. 00 *
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Koy VLB KBP 7.24 0. 00 0. 67|* 100.0 0.0 0. 100. 7,100. 0|7 A 7 7 )b ~Efidk
7.0 0~ 3.29 0. 00 *

Ay A FC WP T 6. 92 0. 00 0. 65|* 100. 0 0.0 0. 100. 7,200. 0|7 27 7 )L Lk
7.1 0~ 3.25 0. 00 *

Ay LA F WP T 3.32 0. 00 0. 65|* -13.5 0.0 113. 100. 7,300. 0|7 27 7 )L afdE
7.2 0~ 3.28 0. 00 *

Koy VLB KEP 3.27 0. 00 0. 65 |* 100. 0 0.0 0. 100. 7,400. 0|7 A 7 7 )b ~Ef%kE
7.3 0~ 3.28 0. 00 *

Koy WL B4 KEP 3.27 0. 00 0. 65 |* 100.0 0.0 0. 100. 7,500. 0|7 A 7 7 )b ~EfidkE
7.4 0~ 3.28 0. 00 *

Ay WL LA R T 7.05 0. 00 0. 50 2.01 100.0 0.0 0. 100. 7,600.0|7 2 7 7 /L hafdk
7.5 0~ 7.07 0. 00 1.75

Ay WL LA R T 7.05 0. 00 0. 50 2.01 100.0 0.0 0. 100. 7,700.0|7 2 7 7 /L hafdk
7.6 0~ 7.07 0. 00 1.75

Ay I L F WP T 4, 46 0. 00 0. 50 1.64 100.0 0.0 0. 100. 7,800. 0|7 2 7 7 /L hafdk
7.7 0~ 7.39 0. 00 1.51

KAy WL LA R T 3.33 0. 00 0. 50 2.08 100.0 0.0 0. 100. 7,900. 0|7 2 7 7 L hafdk
7.8 0~ 5. 02 0. 00 2.09

Ay WL LA R T 3.35 0. 00 0. 50 2.09 100.0 0.0 0. 100. 8,000.0|7 =2 7 7 v Mtk
7.9 0~ 3.35 0. 00 1.77

Koy B B1% K 3. 36 0. 00 0. 50 1.63| -155.0 0.0 255. 100. 8,100. 0|7 2 7 7 /L et
8.0 0~ 3. 36 0. 00 1.76

Ay WL LA R T 3.35 0. 00 0. 50 0. 86 100. 0 0.0 0. 100. 8,200.0|7 =2 7 7 v Mtk
8.1 0~ 3.35 0. 00 0. 96

Ay L F WP T 3.33 0. 00 0. 50 2.08 100. 0 0.0 0. 100. 8,300.0|7 =2 7 7 v Mtk
8.2 0~ 5. 02 0. 00 2.09

Ay WL A% R T 3.35 0. 00 0. 50 2.92 100. 0 0.0 0. 100. 8,400. 0|7 =2 7 7 v Mtk
8.3 0~ 3.35 0. 00 2.83
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Ay WL LA R T 3.34 0. 00 0. 50 1.69 100.0 0.0 0. 100. 8,500. 0|7 =2 7 7 v Mtk
8.4 0~ 3.35 0. 00 1.63

Ay A FC WP T 3.35 0. 00 0. 50 1.68 100.0 0.0 0. 100. 8,600.0|7 =2 7 7 v Mtk
8.5 0~ 3.35 0. 00 1.66

Ay LA F WP T 3.35 0. 00 0. 50 2. 89 100.0 0.0 0. 100. 8,700.0|7 =27 7 v Mtk
8.6 0~ 3. 36 0. 00 2. 89

Koy B E1% KE 3.34 0. 00 0. 50 0. 87 -57.0 0.0 157. 100. 8,800.0(7 27 7 /L it
8.7 0~ 3. 34 0. 00 0. 89

Ay WL LA R T 3.38 0. 00 0. 50 0. 89 100.0 0.0 0. 100. 8,900. 0|7 =2 7 7 v Mtk
8.8 0~ 3.37 0. 00 0. 90

Ay WL LA R T 3.38 0. 00 0. 50 0. 89 100.0 0.0 0. 100. 9,000.0|7 =27 7 v Mtk
8.9 0~ 3.37 0. 00 0. 90

Ay WL LA R T 3.37 0. 00 0. 50 2.76 100.0 0.0 0. 100. 9,100. 0|7 2 7 7 v Mtk
9.0 0~ 3. 36 0. 00 3.33

Ay I L F WP T 3.39 0. 00 0. 50 1.57 100.0 0.0 0. 100. 9,200.0|7 =27 7 v Mtk
9.1 0~ 3.39 0. 00 2.03

KAy WL LA R T 3.37 0. 00 0. 50 2.07 100.0 0.0 0. 100. 9,300. 0|7 =27 7 v Mtk
9.2 0~ 3.37 0. 00 2.07

Ay WL LA R T 3.37 0. 00 0. 50 3.32 100.0 0.0 0. 100. 9,400. 0|7 =2 7 7 v Mtk
9.3 0~ 3.37 0. 00 3.29

KAy WL A% R T 3.36 0. 00 0. 50 1.78 100.0 0.0 0. 100. 9,500. 0|7 =2 7 7 v Mtk
9.4 0~ 3.37 0. 00 1.93

Ay WL LA R T 3.34 0. 00 0. 50 1.65 100. 0 0.0 0. 100. 9,600.0|7 =2 7 7 v Mtk
9.5 0~ 3.35 0. 00 1.66

Ay L F WP T 3.37 0. 00 0. 50 2. 87 100. 0 0.0 0. 100. 9,700.0|7 =2 7 7 v Mtk
9.6 0~ 3.37 0. 00 2. 87

Ay WL A% R T 3.20 0. 00 0. 65 1.70 100. 0 0.0 0. 100. 9,800.0|7 =2 7 7 v Mtk
9.7 0~ 3.19 0. 00 1.78
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PN S N A 3.19 0. 00 0. 65 1.76 -54. 0 0.0 154.0 100. 0 9,900.0|7 % 7 7 /1 &%k
9.8 0 ~ 9.9 0 3.19 0. 00 1.79

PN T N A 3.19 0. 00 0. 65 0.98 100. 0 0.0 0.0 100.0| 10, 000.0|7 2 7 7 L k&
9.9 0 ~ 10.0 0 3.19 0. 00 0. 99

PN S N A 3.18 0. 00 0. 65 2.15 100. 0 0.0 0.0 100.0| 10, 100. 0|7 2 7 7 /L k&
10.0 0 ~ 10. 1 0 3.19 0. 00 1. 74

PN S N A 3.18 0. 00 0. 65 2.15 100. 0 0.0 0.0 100.0|  10,200.0|7 2 7 7 L k&
10. 1 0 ~ 10. 2 0 3.19 0. 00 1. 74

PN S N A 3.18 0. 00 0. 65 2.17 100. 0 0.0 0.0 100.0|  10,300.0|7 2 7 7 /L kA&
10. 2 0 ~ 10.3 0 3.19 0. 00 1.83

PN S N A 3.18 0. 00 0. 65 2.17 100. 0 0.0 0.0 100.0| 10, 400.0|7 2 7 7 L k&
10.3 0 ~ 10. 4 0 3.18 0. 00 1.82

PN S N A 3.19 0. 00 0. 65 3.37 100. 0 0.0 0.0 100.0|  10,500. 0|7 2 7 7 L k&
10. 4 0 ~ 10.5 0 3.19 0. 00 3. 39

PN S N AT 3.19 0. 00 0. 65 2.14 100. 0 0.0 0.0 100.0| 10, 600.0|7 2 7 7 /L k&
10.5 0 ~ 10. 6 0 3.19 0. 00 1.76

PN S N AT 3.19 0. 00 0. 65 1.75 100. 0 0.0 0.0 100.0| 10, 700. 0|7 2 7 7 L k&
10. 6 0 ~ 10. 7 0 3.18 0. 00 1.77

PN Y N AT 3.18 0. 00 0. 65 1.77 -32.0 0.0 132.0 100.0|  10,800.0|7 2 7 7 /L k&
10. 7 0 ~ 10. 8 0 3. 20 0. 00 1.93

PN S N A 3.18 0. 00 0. 65 0. 99 100. 0 0.0 0.0 100.0|  10,900.0|7 2 7 7 L k&
10. 8 0 ~ 10.9 0 3.18 0. 00 1. 00

PN Y N AT 3.30 0. 00 0. 65 3.03 100. 0 0.0 0.0 100.0|  11,000.0|7 2 7 7 /L k&%
10.9 0 ~ 11.0 0 3. 20 0. 00 1.54

PN S N AT 6.91 0. 00 0. 65 1.48 100. 0 0.0 0.0 100.0|  11,100.0|7 2 7 7 /L k&
11.0 0 ~ 11. 1 0 7.17 0. 00 1.49

PN S N A 3.18 0. 00 0. 65 1.81 100. 0 0.0 0.0 100.0|  11,200.0|7 2 7 7 L k&
11.1 0 ~ 11.2 0 3.19 0. 00 1.75
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Koy R E1% KE 3.19 0. 00 0. 65 1.69 100.0 0.0 0.0 100.0 11, 300. 0|7 2 7 7 v Mk
11.2 0~ 11.3 0 3. 19 0. 00 1.74
Koy R B1% KE 3.19 0. 00 0. 65 1.72 100. 0 0.0 0.0 100.0 11,400. 0|7 2 7 7 v Mk
11.3 0~ 11.4 0 3.18 0. 00 1.75
Koy R E1% KE 3.27 0. 00 0. 65 1.95 100. 0 0.0 0.0 100.0 11,500. 0|7 2 7 7 v Mtk
11.4 0~ 11.5 0 6. 59 0. 00 1.54
Koy R E1% KE 6. 96 0. 00 0. 65 1.92 100.0 0.0 0.0 100.0 11,600. 0|7 2 7 7 v Mtk
11.5 0~ 11.6 0 6. 87 0. 00 1.52
Koy R E1% KE 3.18 0. 00 0. 65 1.72 100.0 0.0 0.0 100.0 11,700. 0|7 2 7 7 v Mtk
11.6 0~ 11.7 0 6. 86 0. 00 1.52
Koy B E1% KE 3.19 0. 00 0. 65 2.97 -2.0 0.0 102.0 100. 0 11,800. 0|7 2 7 7 )L &t
11.7 0~ 11.8 0 3. 17 0. 00 2.95
Koy R E1% KE 3.19 0. 00 0. 65 0.98 100. 0 0.0 0.0 100. 0 11,900. 0|7 2 7 7 /v &%t
11.8 0~ 11.9 0 3. 19 0. 00 1.00
Koy B E1% KE 3.21 0. 00 0. 65 1.70 100.0 0.0 0.0 100.0 12,000. 0|7 2 7 7 v FafidE
11.9 0~ 12.0 0 3. 17 0. 00 1.75
Koy R E1% K 3.19 0. 00 0. 65 1.68 -24. 0 0.0 124.0 100. 0 12,100. 0|7 2 7 7 )L &%t
12.0 0~ 12. 1 0 3. 19 0. 00 1.74
Koy B B1% K 3.18 0. 00 0. 65 0.99 100. 0 0.0 0.0 100. 0 12,200. 0|7 2 7 7 /v it
12. 1 0~ 12.2 0 3.18 0. 00 1.02
Koy R B1% K 3.21 0. 00 0. 65 1.70 100.0 0.0 0.0 100.0 12, 300. 0|7 2 7 7 v Mtk
12.2 0~ 12.3 0 3. 16 0. 00 1.79
Koy R B1% K 3.21 0. 00 0. 65 1.70 100.0 0.0 0.0 100.0 12,400. 0|7 2 7 7 v Mtk
12.3 0~ 12. 4 0 3. 16 0. 00 1.79
Koy R B1% K 3.19 0. 00 0. 65 2.36 100. 0 0.0 0.0 100. 0 12,500. 0|7 2 7 7 )L &t
12. 4 0~ 12.5 0 3. 19 0. 00 1.73
Koy R E1% K 3.18 0. 00 0. 65 2.98 100. 0 0.0 0.0 100. 0 12,600. 0|7 2 7 7 )L &t
12.5 0~ 12.6 0 3. 19 0. 00 3.01
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Koy R E1% KE 3.18 0. 00 0. 65 2.07 100. 0 0.0 0.0 100. 0 12,700. 0|7 2 7 7 /v it
12.6 0~ 12.7 0 3.18 0.00 1.74

Koy R B1% KE 3.21 0. 00 0. 65 1.73| -138.0 0.0 238.0 100. 0 12,800. 0|7 2 7 7 )L it
12.7 0~ 12.8 0 3. 20 0.00 1.73

Koy R E1% KE 3.20 0. 00 0. 65 0.98 100. 0 0.0 0.0 100. 0 12,900. 0|7 2 7 7 )L &t
12.8 0~ 12.9 0 3.19 0. 00 0.99

Koy R E1% KE 3.20 0. 00 0. 65 0.98 100. 0 0.0 0.0 100. 0 13,000. 0|7 2 7 7 )L &%t
12.9 0~ 13.0 0 3.19 0. 00 0.99

Koy R E1% KE 3.20 0. 00 0. 65 1.66 100. 0 0.0 0.0 100. 0 13,100. 0|7 2 7 7 )L &%t
13.0 0~ 13.1 0 3.19 0.00 2.53

Koy B E1% KE 3.20 0. 00 0. 65 1.66 100. 0 0.0 0.0 100. 0 13,200. 0|7 2 7 7 )L &t
13.1 0~ 13.2 0 3.19 0.00 2.53

Koy R E1% KE 3.19 0. 00 0. 65 1.74 100. 0 0.0 0.0 100. 0 13,300. 0|7 2 7 7 )L &t
13.2 0~ 13.3 0 3.18 0. 00 1.72

Koy B E1% KE 3.29 0. 00 0. 65 2.04 100. 0 0.0 0.0 100. 0 13,400. 0|7 2 7 7 )L it
13.3 0~ 13.4 0 3.28 0.00 1.79

Koy R E1% K 3.30 0. 00 0. 65 1.88 100. 0 0.0 0.0 100. 0 13,500. 0|7 2 7 7 )L &t
13.4 0~ 13.5 0 3.27 0. 00 1.87

Koy B B1% K 3.28 0. 00 0. 65 2.09 100. 0 0.0 0.0 100. 0 13,600. 0|7 2 7 7 )L &%t
13.5 0~ 13.6 0 3.27 0. 00 1.81

Koy R B1% K 3.30 0. 00 0. 65 1.62 100. 0 0.0 0.0 100. 0 13,700. 0|7 2 7 7 /v it
13.6 0~ 13.7 0 3.27 0.00 1.65

Koy R B1% K 3.29 0. 00 0. 65 2.05 100. 0 0.0 0.0 100. 0 13,800. 0|7 2 7 7 )L it
13.7 0~ 13.8 0 3.28 0. 00 1.86

Koy R B1% K 3.30 0. 00 0. 65 2.06 100. 0 0.0 0.0 100. 0 13,900. 0|7 2 7 7 )L &t
13.8 0~ 13.9 0 3. 30 0.00 1.76

Koy R E1% K 3.30 0. 00 0. 65 2.11 100. 0 0.0 0.0 100.0 14, 000. 0|7 2 7 7 v FafidtE
13.9 0~ 14. 0 0 3.28 0. 00 1.87
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Koy R E1% KE 3.28 0. 00 0. 65 2.05 100. 0 0.0 0.0 100. 0 14,100. 0|7 2 7 7 /v it
14. 0 0~ 14.1 0 3.29 0.00 1.79

Koy R B1% KE 3.29 0. 00 0. 65 2.06 100. 0 0.0 0.0 100. 0 14, 200. 0|7 2 7 7 /v it
14.1 0~ 14.2 0 3.28 0.00 1.82

Koy R E1% KE 3.28 0. 00 0. 65 3.32 100. 0 0.0 0.0 100. 0 14, 300. 0|7 2 7 7 /v &t
14.2 0~ 14. 3 0 3.28 0. 00 3.06

Koy R E1% KE 3.28 0. 00 0. 65 1.63 100. 0 0.0 0.0 100. 0 14, 400. 0|7 2 7 7 /v &
14. 3 0~ 14. 4 0 3.28 0. 00 1.65

Koy R E1% KE 3.28 0. 00 0. 65 1.99 100. 0 0.0 0.0 100. 0 14, 500. 0|7 2 7 7 )L &t
14. 4 0~ 14.5 0 3.27 0.00 1.86

Koy B E1% KE 3.28 0. 00 0. 65 3.32 100. 0 0.0 0.0 100. 0 14, 600. 0|7 2 7 7 )L | &t
14.5 0~ 14. 6 0 3.28 0.00 3.01

Koy R E1% KE 3.28 0. 00 0. 65 1.59 100. 0 0.0 0.0 100. 0 14,700. 0|7 2 7 7 /v &t
14. 6 0~ 14.7 0 3.28 0. 00 1.64

Koy B E1% KE 3.28 0. 00 0. 65 1. 60 100. 0 0.0 0.0 100. 0 14, 800. 0|7 =2 7 7 )L it
14.7 0~ 14. 8 0 3.28 0.00 1.65

Koy R E1% K 3.28 0. 00 0. 65 1.56 100. 0 0.0 0.0 100. 0 14, 900. 0|7 2 7 7 )L it
14. 8 0~ 14.9 0 3.27 0. 00 1.79

Koy B B1% K 3.28 0. 00 0. 65 1.99 100. 0 0.0 0.0 100. 0 15,000. 0|7 2 7 7 )L &t
14.9 0~ 15.0 0 3.28 0. 00 1.82

Koy R B1% K 3.28 0. 00 0. 65 2. 74 100. 0 0.0 0.0 100. 0 15,100. 0|7 2 7 7 )L &%t
15.0 0~ 15. 1 0 3.29 0.00 2.96

Koy R B1% K 3.28 0. 00 0. 65 2.03 100. 0 0.0 0.0 100. 0 15,200. 0|7 2 7 7 )L &t
15.1 0~ 15.2 0 3.27 0. 00 1.80

Koy R B1% K 3.28 0. 00 0. 65 2.07 100. 0 0.0 0.0 100. 0 15,300. 0|7 2 7 7 )L it
15.2 0~ 15.3 0 3.28 0.00 1.73

Koy R E1% K 3.27 0. 00 0. 65 1.98 100. 0 0.0 0.0 100. 0 15,400. 0|7 2 7 7 )L it
15. 3 0~ 15.4 0 3.28 0. 00 1.76
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Koy R E1% KE 3.27 0. 00 0. 65 2.05 100. 0 0.0 0.0 100. 0 15,500. 0|7 2 7 7 )L &t
15.4 0~ 15.5 0 3.27 0.00 1.91

Koy R B1% KE 3.33 0. 00 0. 80 2.08 100. 0 0.0 0.0 100. 0 15,600. 0|7 2 7 7 )L &t
15.5 0~ 15. 6 0 5. 02 0.00 2.09

Koy R E1% KE 3. 40 0. 00 0. 80 2.57 100. 0 0.0 0.0 100. 0 15,700. 0|7 2 7 7 )L &t
15. 6 0~ 15.7 0 3. 40 0. 00 2. 69

Koy R E1% KE 3. 40 0. 00 0. 80 2.29 100. 0 0.0 0.0 100. 0 15,800. 0|7 2 7 7 )L &t
15.7 0~ 15. 8 0 3.43 0. 00 2.07

Koy R E1% KE 3.37 0. 00 0. 80 2.16 100. 0 0.0 0.0 100. 0 15,900. 0|7 2 7 7 )L &%t
15. 8 0~ 15.9 0 3. 44 0.00 2.06

Koy B E1% KE 3.41 0. 00 0. 80 2.11 100.0 0.0 0.0 100.0 16, 000. 0|7 2 7 7 v FafidE
15.9 0~ 16.0 0 3.45 0.00 2.03

Koy R E1% KE 3.50 0. 00 0. 80 1. 00 4.0 0.0 96.0 100. 0 16,100. 0|7 2 7 7 )L &%t
16.0 0~ 16. 1 0 3. 50 0. 00 1.25

Koy B E1% KE 3.50 0. 00 0. 80 1.75 100. 0 0.0 0.0 100. 0 16,200. 0|7 2 7 7 )L it
16. 1 0~ 16.2 0 3. 50 0.00 0. 80

Koy R E1% K 3.50 0. 00 0. 80 0.75 81.8 0.0 18.2 100. 0 16,300. 0|7 2 7 7 )L &%t
16.2 0~ 16.3 0 3. 50 0. 00 1.00

Koy B B1% K 3.50 0. 00 0. 80 1. 00 100. 0 0.0 0.0 100. 0 16,400. 0|7 2 7 7 )L it
16.3 0~ 16.4 0 3. 50 0. 00 1.25

Koy R B1% K 3.50 0. 00 0. 80 1. 00 100. 0 0.0 0.0 100. 0 16,500. 0|7 2 7 7 )L &%t
16.4 0~ 16.5 0 3. 50 0.00 1.50

Koy R B1% K 3.50 0. 00 0. 80 1. 00 100. 0 0.0 0.0 100. 0 16,600. 0|7 2 7 7 )L &t
16.5 0~ 16. 6 0 3. 50 0. 00 1.75

Koy R B1% K 3.50 0. 00 1.50 1.75 100. 0 0.0 0.0 100.0 16,700. 0|7 2 7 7 v Mtk
16. 6 0~ 16.7 0 3. 50 0.00 1.75

Koy R E1% K 3.50 0. 00 1.50 1.75 100. 0 0.0 0.0 100.0 16, 800. 0|7 2 7 7 v Mtk
16.7 0~ 16.8 0 3. 50 0. 00 1.75
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Koy R E1% KE 3.50 0. 00 1.50 1.75 100.0 0.0 0.0 100.0 16,900. 0|7 2 7 7 v Mtk
16.8 0~ 16.9 0 3. 50 0. 00 1.75

Koy R B1% KE 3.50 0. 00 1.50 1.75 100. 0 0.0 0.0 100.0 17,000. 0|7 2 7 7 v Mk
16.9 0~ 17.0 0 3. 50 0. 00 1.75

Koy R E1% KE 3.50 0. 00 1.50 1.75 100. 0 0.0 0.0 100.0 17,100. 0|7 2 7 7 v Mk
17.0 0~ 17. 1 0 3. 50 0. 00 1.75

Koy R E1% KE 3.50 0. 00 1.50 1.75 100.0 0.0 0.0 100.0 17,200. 0|7 2 7 7 v Mk
17. 1 0~ 17.2 0 3. 50 0. 00 1.75

Koy R E1% KE 3.50 0. 00 1.50 1.75 100.0 0.0 0.0 100.0 17,300. 0|7 2 7 7 v Mk
17.2 0~ 17.3 0 3. 50 0. 00 1.75

Koy B E1% KE 3.50 0. 00 1.50 1.75 100.0 0.0 0.0 100.0 17,400. 0|7 2 7 7 v Mtk
17.3 0~ 17. 4 0 3. 50 0. 00 1.75

Koy R E1% KE 3.50 0. 00 1.50 1.75 100.0 0.0 0.0 100.0 17,500. 0|7 2 7 7 v Mtk
17. 4 0~ 17.5 0 3. 50 0. 00 1.75

Koy B E1% KE 3.50 0. 00 1.50 1.75 100.0 0.0 0.0 100.0 17,600. 0|7 2 7 7 v Mtk
17.5 0~ 17.6 0 3. 50 0. 00 1.75

Koy R E1% K 3.50 0. 00 1.50 1.75 100. 0 0.0 0.0 100.0 17,700. 0|7 2 7 7 v Mtk
17.6 0~ 17.7 0 3. 50 0. 00 1.75

Koy B B1% K 3.50 0. 00 1.50 1.75 100.0 0.0 0.0 100.0 17,800. 0|7 2 7 7 v Mtk
17.7 0~ 17.8 0 3. 50 0. 00 1.75

Koy R B1% K 3.50 0. 00 1. 50 1.75 73.2 0.0 26. 8 100. 0 17,900. 0|7 2 7 7 )L &t
17.8 0~ 17.9 0 3. 50 0. 00 1.75

Koy R B1% K 3.50 0. 00 1.50 1.75 100.0 0.0 0.0 100.0 18,000. 0|7 2 7 7 v Mtk
17.9 0~ 18.0 0 3. 50 0. 00 1.75

Koy R B1% K 3.50 0. 00 1. 50 1.75 66.0 0.0 34.0 100. 0 18,100. 0|7 2 7 7 )L it
18.0 0~ 18. 1 0 3. 50 0. 00 1.75

Koy R E1% K 3.50 0. 00 1.50 1.75 100. 0 0.0 0.0 100.0 18,200. 0|7 2 7 7 v Mtk
18. 1 0~ 18.2 0 3. 50 0. 00 1.75
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Koy R E1% KE 3.50 0. 00 1.50 1.75 100.0 0.0 0.0 100.0 18,300. 0|7 2 7 7 v FafidtE
18.2 0~ 18.3 0 3. 50 0. 00 1.75

Koy R B1% KE 3.50 0. 00 1.50 1.75 100. 0 0.0 0.0 100.0 18,400. 0|7 2 7 7 v Mtk
18.3 0~ 18. 4 0 3. 50 0. 00 1.75

Koy R E1% KE 3.50 0. 00 1. 50 1.75 78.7 0.0 21.3 100. 0 18,500. 0|7 2 7 7 )L &%t
18. 4 0~ 18.5 0 3. 50 0. 00 1.75

Koy R E1% KE 3.50 0. 00 1.50 1.75 100.0 0.0 0.0 100.0 18,600. 0|7 2 7 7 v Mtk
18.5 0~ 18.6 0 3. 50 0. 00 1.75

Koy R E1% KE 3.50 0. 00 1.50 1.75 100.0 0.0 0.0 100.0 18,700. 0|7 2 7 7 v Mk
18.6 0~ 18.7 0 3. 50 0. 00 1.75

Koy B E1% KE 3.50 0. 00 1.50 1.75 100.0 0.0 0.0 100.0 18,800. 0|7 2 7 7 v Mtk
18.7 0~ 18.8 0 3. 50 0. 00 1.75

Koy R E1% KE 3.50 0. 00 1.50 1.75 100.0 0.0 0.0 100.0 18,900. 0|7 2 7 7 v Mtk
18.8 0~ 18.9 0 3. 50 0. 00 1.75

Koy B E1% KE 3.50 0. 00 1.50 1.75 100.0 0.0 0.0 100.0 19, 000. 0|7 2 7 7 v M &tk
18.9 0~ 19.0 0 3. 50 0. 00 1.75

Koy R E1% K 3.50 0. 00 1.50 1.75 100. 0 0.0 0.0 100.0 19, 100. 0|7 2 7 7 v M &k
19.0 0~ 19. 1 0 3. 50 0. 00 1.75

Koy B B1% K 3.50 0. 00 1. 50 1.75 58.5 0.0 41.5 100. 0 19,200. 0|7 2 7 7 )L &t
19. 1 0~ 19.2 0 3. 50 0. 00 1.75

Koy R B1% K 3.50 0. 00 1.50 1.75 100.0 0.0 0.0 100.0 19, 300. 0|7 2 7 7 v Mtk
19.2 0~ 19.3 0 3. 50 0. 00 1.75

Koy R B1% K 3.50 0. 00 1.50 1.75 100.0 0.0 0.0 100.0 19, 400. 0|7 2 7 7 v Mk
19.3 0~ 19. 4 0 3. 50 0. 00 1.75

Koy R B1% K 3.50 0. 00 1.50 1.75 100. 0 0.0 0.0 100.0 19, 500. 0|7 2 7 7 v Mtk
19. 4 0~ 19.5 0 3. 50 0. 00 1.75

Koy R E1% K 3.50 0. 00 1.50 1.75 100. 0 0.0 0.0 100.0 19, 600. 0|7 2 7 7 v Mk
19.5 0~ 19.6 0 3. 50 0. 00 1.75
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Koy R E1% KE 3.50 0. 00 1.50 1.75 100.0 0.0 0.0 100.0 19, 700. 0|7 2 7 7 v Mtk
19. 6 0~ 19.7 0 3. 50 0.00 1.75

Koy R B1% KE 3.50 0. 00 1.50 1.75 100. 0 0.0 0.0 100.0 19, 800. 0|7 2 7 7 v Mk
19.7 0~ 19.8 0 3. 50 0.00 1.75

Koy R E1% KE 3.50 0. 00 1.50 1.75 100. 0 0.0 0.0 100.0 19,900. 0|7 2 7 7 v Mtk
19.8 0~ 19.9 0 3. 50 0. 00 1.75

Koy R E1% KE 3.50 0. 00 1. 50 1.75 100. 0 0.0 0.0 100. 0| 20, 000.0|7 27 7 /L &Lk
19.9 0~ 20.0 0 3. 50 0. 00 1.75

Koy R E1% KE 3.50 0. 00 1. 50 1.75 100. 0 0.0 0.0 100. 0| 20, 100.0|7 2 7 7 /L &Lk
20.0 0~ 20. 1 0 3. 50 0.00 1.75

Koy B E1% KE 3.50 0. 00 1. 50 1.75 100. 0 0.0 0.0 100. 0| 20,200.0|7 27 7 /L gLk
20. 1 0~ 20. 2 0 3. 50 0.00 1.75

Koy R E1% KE 3.50 0. 00 1. 50 1.75 100. 0 0.0 0.0 100. 0| 20,300.0|7 27 7 /L gLk
20. 2 0~ 20.3 0 3. 50 0. 00 1.75

Koy B E1% KE 3.50 0. 00 1. 50 1.75 100. 0 0.0 0.0 100. 0| 20, 400.0|7 2 7 7 /L gLk
20.3 0~ 20. 4 0 3. 50 0.00 1.75

Koy R E1% K 3.50 0. 00 1. 50 1.75 100. 0 0.0 0.0 100. 0| 20,500.0|7 27 7 /L &Lk
20. 4 0~ 20.5 0 3. 50 0. 00 1.75

Koy B B1% K 3.50 0. 00 1. 50 1.75 100. 0 0.0 0.0 100. 0| 20, 600.0|7 27 7 /L &Lk
20.5 0~ 20. 6 0 3. 50 0. 00 1.75

Koy R B1% K 3.50 0. 00 1. 50 1.75 100. 0 0.0 0.0 100. 0| 20, 700.0|7 27 7 /L gLk
20. 6 0~ 20. 7 0 3. 50 0.00 1.75

Koy R B1% K 3.50 0. 00 1. 50 1.75 100. 0 0.0 0.0 100. 0|  20,800.0|7 27 7 /L &Lk
20. 7 0~ 20. 8 0 3. 50 0. 00 1.75

Koy R B1% K 3.50 0. 00 1. 50 1.75 70. 2 0.0 29.8 100. 0| 20,900.0|7 27 7 /L &Lk
20. 8 0~ 20.9 0 3. 50 0.00 1.75

Koy R E1% K 3.50 0. 00 1.50 1.75 100. 0 0.0 0.0 100.0|  21,000.0|7 27 7 /L hafdk
20.9 0~ 21.0 0 3. 50 0. 00 1.75
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Koy R E1% KE 3.50 0. 00 1.50 1.75 100.0 0.0 0.0 100.0|  21,100.0|7 2 7 7 /L haf%k
21.0 0~ 21. 1 0 3. 50 0. 00 1.75
Koy R B1% KE 3.50 0. 00 1.50 1.75 100. 0 0.0 0.0 100.0|  21,200.0|7 27 7 L hafdk
21. 1 0~ 21.2 0 3. 50 0. 00 1.75
Koy R E1% KE 3.50 0. 00 1.50 1.75 100. 0 0.0 0.0 100.0|  21,300.0|7 27 7 L hafdk
21.2 0~ 21.3 0 3. 50 0. 00 1.75
Koy R E1% KE 3.50 0. 00 1.50 1.75 100.0 0.0 0.0 100.0|  21,400.0|7 2 7 7 /L hafdk
21.3 0~ 21.4 0 3. 50 0. 00 1.75
Koy R E1% KE 3.50 0. 00 1.50 1.75 100.0 0.0 0.0 100.0|  21,500.0|7 2 7 7 /L hafdk
21.4 0~ 21.5 0 3. 50 0. 00 1.75
Koy B E1% KE 3.50 0. 00 1.50 1.75 100.0 0.0 0.0 100.0|  21,600.0|7 27 7 L hafdk
21.5 0~ 21.6 0 3. 50 0. 00 1.75
Koy R E1% KE 3.50 0. 00 1.50 1.75 100.0 0.0 0.0 100.0|  21,700.0|7 27 7 /L hafdk
21.6 0~ 21.7 0 3. 50 0. 00 1.75
Koy B E1% KE 3.50 0. 00 1.50 1.75 100.0 0.0 0.0 100.0|  21,800.0|7 27 7 /L hafdk
21.7 0~ 21.8 0 3. 50 0. 00 1.75
Koy R E1% K 3.50 0. 00 1.50 1.75 100. 0 0.0 0.0 100.0|  21,900.0|7 2 7 7 /L hafdk
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